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Name
Phys 221 (Section 8)
Quiz #3
m=2.0 'I:
k= tso0
1. A 2.0-kg block is pushed against a spring of foree con- For apring
stant k= lﬁﬂﬂﬁ- at point A on the track ABC shown here, :
which is frictionless except for a section of length 0.b m g T Ho=0-2

which has coefficient of kinetic friction j1p = 0.2 on the
level part of it. The spring is compressed by ¢ = 9.0 cm;
the mass is Lhen released, starting from rest.

[

a) What is the speed of the mass when it gets to point B A o5 ,,‘.-- B
(just past the rough section)?
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b) When the mass comes to rest momentarily on the sloped

portion of the track (at point C) what is its vertical height?
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¢) The mass then slides back down, over the rough part and
compresses the spring. As the mass momentarily comes to
rest against the spring, what is the new distance by which
it 1s compressed?
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AB= =19 T  (oane weh doe by fickom). This gives  Ep = A0S T- 1%F T 2,156 T
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2. A 0.4-kg ball with a velocity of {3?—?]’}? collides with the floor and rebounds with a velocity of (Zi+65)T.
The ball was in contact with the floor for 7.0 x 1072 s Find the change in momentum and the average force
exerted by the floor during the time of contaet,
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